
Section 3.3 – 3.4 Worksheet              Name: _______________________________ 
 

Solve the following equations. 

1.)  
𝑥

−6
= 3        2.)  2𝑝 − 5(𝑝 − 9) = 27   

    

 

 

 

 

 

 

3.)  −7𝑦 − 8 = −57       4.)  
1

4
(𝑡 + 10) = 5    

  

 

 

 

 

 

 

5.)  −8 − 2𝑥 = −26       6.)  
3

4
(𝑥 + 9) = 15  

 

 

 

 

 

 

 



7.)  𝑥 − 2𝑥 + 3 = 3 − 𝑥      8.)  5(𝑓 + 3) = 5𝑓 + 3 

 

 

 

 

 

 

 

 

 

 

9.)  5𝑘 − 9 = 3𝑘 − 25      10.)  24 − 6𝑟 = 6(4 − 𝑟) 

 

 

 

 

 

 

 

 

 

 

11.)  8 − 3𝑥 = 7𝑥 − 82      12.)  −6𝑥 + 7 − 7𝑥 = −6 

 

 

 

 

 

 


